Calculating Coefficients
without Pascal’s Triangle
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Hence the result i1s true for k =0




Step 2 : Assume the resultis true for k = r wherer isan integer >0
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Step 3:Prove theresultistruefork =r +1
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Hence the result istrue fork =r + 1 if it is also true fork = r

Step 4: Hence the result is true for all positive integral values of n
by induction



The Binomial Theorem

(1+X)'="Cy+"Cx+"C,x* +.. +"C X“ +.. +"C X"
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where "C, = and n is a positive integer
“ Kl(n—k) P J
NOTE: there are (n + 1) terms
This extends to; -
(a+b)'=> "C.a"“b"

k=0
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e.g.Evaluate"C, 'C,= %
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=330



(i1) Find the value of n so that;

a) "C.="C, b) "C,+"C,=*C,
an :nCn_k n—lck_l_n—lck_l:nck
8=n-5 +.n=19

n=13
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(iii ) Find the 5th term in the expansion of (Sa — Sj
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(iv) Obtain the term independent of x in (sz —1j
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term independent of x means term with x°
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2° Exercise 5D: 2. 3.5, 7, 9, 10ac, 12ac, 13,
9C633 14, 15aC, 19, 25
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